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The effects of organizational change and its rolenothe performance of
human resource management from employee’s perspeati in Al-Makassed
hospital.

Prepared by: Ziad Khamis Hussein Bahar.

Supervisor: Dr. Omar Slaibi.

Abstract:

This research focused on human resource departateAt- Makassed Hospital in order to
evaluate the effect of organizational change orravipg the human resource performance and
the hospital responsiveness and improvement of nieglical services through planning,
selection, hiring, training, capacity building, agigal, wages, and incentives.

The importance of this research comes from thatyetilat very few researches and studies
conducted and connected the organizational chantfe the human resources, however the
theoretical approach of this research could produsew material that may help the researchers
and any interested group as well as building orrésalts achieved in other future research, also
it will help in discovering the weaknesses in thanlan resource management and how the
organizational change will eliminate and reducarthand finally it will provide the decision
makers at Al Makassed Hospital and specificallyhi@ human resource department to promote
the importance of the organization change in dguefp and enhancing the job of the human
resource management in the hospital.

This research took place during 2010/2011 in Al Bkded Hospital in Jerusalem, with a total of
530 employees. A sample of 160 employees were ohogse which represents 30% of the
total employees, the sample was chosen using thiglesirandom selection method (Probability
Sample); a 160 questionnaires were distributedutab®8 questionnaires, filled, collected and
processed, which represents approximately 26%eofatal number of employees.

The researcher followed the descriptive approaclduaeve the goals of this research. This
approach describes the characteristics of the phena and collecting data a questionnaire was
adopted as the data collection tool, consists retiparts and 91 paragraphs. Data was processed
by Statistical Package for Social Sciences (SP&$alculate mean values, standard deviation,
t- test, One Way ANOVA test, and Cronbach Alpha.

The most important result was the employees aceeptaf the objectives of the organizational
change at Al- Makassed Hospital with 66.75% acce@aalso there was acceptance for the
importance of implementing new and efficient mamaget system to identify the work flow
criteria and to enhance communication, responsésli productivity & capacity building,
differences were registered was related to the fgpe regarding identifying the goals of the
organization change in the hospital and non wastergd related to gender, age, experience
and education level. Another result was 69.20% antba employees of Al- Makassed hospital
who accept the importance of the identifying thgamization change objectives and the most
important factor was; penetration in responsil@gitivithin the organization structure, and no
differences registered among the independent Jagab this regard, the results also shown that
60.89% among the employees of Al- Makassed Hospitab accept the importance of
identifying the strategies of the organization denand the most important factor was public
awareness of the employees, choosing the right fionethe change, partnering with the
employees in the planning, implementation and engpimg the communications between them,



no differences were registered within the indepahdsarameters regarding identifying the
strategies of the organization change except ®ettucation level.

The research concludes that organizational chaagealkey important role in the performance
of human resources, some important factors wereeteffor instance to choose the most
qualified for a certain job, professional evaluatimethods, performing promotions, designing
suitable training courses and using incentives @wehrds to improve employees' morals and
ethics to increase productivity and performance.

The recommendations including the importance of lementing an efficient & modern
organizational change and using efficient and ggsibnal management information system
(MIS) and processes, building an organization cofdethics; improving the quality of medical
services, using efficient methods to recruit antecteemployees, setting up programs for
qualifying and training employees (capacity buily), and to enhance the concept of
organizational change by using its tools, goalssirategies.
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